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Time : 2:30 Hours] [Max. Marks : 70
1. (A) Explain meaning of Cost Accounting, Discuss the advantages and limitations of
Cost Accounting. 14
OR
Write short notes : (Any Two) 14

(B)

NH-103

(1) . Fixed Overheads and Variable Overheads.
(2) Uniform Costing System.
(3)  Cost Centre '

In the following sub-questions. more thar one answer is given, of which only one

answer is correct. Select the correct answer (Any Four) 4
(1)- In chemical industry which method is used ?
(A) Process Costing
(B) Operating Costing
(C)  Job Costing
(D)  Unit Costing
(2)  Telephone bill is included in which of the following expenses ?
(A) Semi-Variable Expen's;es
(B) Fixed expensesr
(C) Variable expenses
(D) None of the above
(3) Which cost accounting method is used in Pharma-medicine industry ?
. (A) Batch costing
(B) Unit Eosting ‘
(C) Contract costing
(D) Job costing
9 ' P.T.O.



(4) In paper industry following cost method is applied -
(A) Unit cost
(B) Job Cost
(C) Process Cost
(D) Operating Cost
(5)  From the following which item is relevant to operating costing ?
(A) Vehicle service
(B) Book publication
(C) Brick industry
(D) Motor garage
(6) Advertisement is ...................... expenses.
(A) Selling and distribution indirect
(B) Factory indirect
(C) Administrative indirect

(D) None of the above

2. (A) The following is a summary of receipts and issues of Material “A” in a factory

during March, 2018 : 14
Date Particulars | Quantity Kgs. | Total Amount ¥

1.3.2018 |Opening Balance 500 10,000
432018 |Purchase - 3,500 - 63.000
9.3.2018 |Purchase 2,000 " 44.000

14.3.2018  |Issued 2,400 L
16.3.2018 |Purchase 400 . 10,000
20.3.2018 - |Issued - A 2,000 R
22.3.2018 |Purchase . 2,000 2. 30,400
28.3.2018 |Issued | 3,000 who

The material issued on 14.3.2018 .and 20.3.2018 were piced on “FIFO” and
“LIFO” basis respectively. It was decided to price the-issues by “Wei ghted Average
Method” from 22.3.2018.

Prepare Stock Register for material. - | SO

| OR ' 9!

10
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Give the answer of following : (Any Two) ' 14
(1) Bhaskar Co. Ltd. manutactures special product ~Zeel”. The following

particulars were collected for the year 2017 :

(A Monthly demand of Zeel 6,500 units.

(B) Cost of placing an order 1,500

()  Annual carrving cost per unit ¥ 234

(D) Normal usage 1,500 units per week.

(E)  Minimum usage 1.000 units per week.

(F) Re-onder period 1 1o 3 weeks.

Compute from the above !

(1) Economic order quantity

(2)  Number of orders to be placed in a vear

3) Re-order level

(?)  Maximum level

(3)  Minimum level

(6) Average stock level (on the basis of EOQ)

(7) Safety stock level.

(2) The following figures have been extracted from the record of Karmali Co.
Ltd. Ahmedabad for the year 2016 and 2017 :

Particulars 2016 2017
Average stock T (7 80,000
Opening stock 80,000 (7)
Purchase X 4.14.000 . (?)
Adjusted purchases X 4.10,000 )
Turnover Rate (7 . 0 times

From the above data find out :
For the year 2016 :

(N Material turnover rate i
(2) Material tumover period »
For the year 2017 : ‘

(1) Purchase

(2) Adjusted purchase.

(3) Explain the difference between FIFO Method and L1FO Method |

NH-103 11

P.T.O.



(B) In the following sub-questions, more than one answer is given, of which only one

. (3).. In which method final stock is valued at a price which is almost nearer to

NH-103

answer is correct. Select the correct answer (Any Four)

(A) LIFO method
(B) FIFO method
(C) Weighted Average method
(D) Fixed Price method
(2) _In which metﬁod stock consists of tirst purchase ?
(A) FIFO method
(B) LIFO method
(C) Weighted Average method
(D) Standard Price method

i ‘current market price ?
~ _(A) LIFO
. (B) FIFO .
‘(.C ) Weightec.i‘ Average method
(D), Fixed Price method

(4) Which of the following methods of stock control aims at concentrating

efforts on selected items of materials ?
.(A) Materials turnover rate
(B) ABC analysis
(C) Perpetual inventory system
(D) Periodic inventory system
(5) Which one of the following is a ‘Product Cost’ ?
(A) Office Sfaff Salary
. (B) 'lndirgctl.Matlerials
(C) Advertising expenses
(D) Interest on Loan
(6) Most Profitable Quantity to purchase is called -
(A) Maximum Quantity
(B) Economical Ordering Quantify
(C) Minimum Quantity
(D) A'verage Quantity

- 12

(1) In which method goods remain in the stock of last purchase ?

4



3. (A) ‘A worker has been allowed to complete a work in 120 hours, but he completes the
work in 90 hours. Labour rate per hour is ¥ 20 if cost of material is T 80 and factory
overheads are 100% of direct labour, find out factory cost as per following
methods : 14

(i) Piece Rate System
(i) Time wage Plan
(iii) Halsey premium plan
(iv) Rowan plan
OR
Give the answer of following (Any two) 14
(1) Taylor’s Differential Piece wage system.

(2)  Atharv has taken 720 hours to complete a job. The wage rate pér hour is
% 10. Ifhe has received Z 8640 as total wages according to Rowan Plan, what
would be the amount of wages eamed by him according to Halsey Plan ?

(3) Froha the following details, Calculate Labour Turnover Rate _’u’nder- '
(i)  Separation Method | |
(i) Replacement Method
(iii) . Flux Method

_ No. of employees at the beginning of the year . 1,200
No. of eniployees at the end of the year . 1,800
No. of emﬁ]oyees resigned . ’ 100;

"~ No. of employees discharged , . 50
No. of employees replaced BB 75

(B) In the following sub-questions, more than one answer is'given, of which only one
answer is correct. Select the correct answer : (Any Three) . 3

(1) Bonus as per Halsey method is calculated at -
(A) 20 % of time wages ‘ |
(B) 33 % of time saved
(C) 50 % of time saved
- (D) None of these _

NH-103 13 - i e P.T.O.



(2) Recess time to worker during the day is -
_ (A) Not considered as-Uilpreductive
(B)  Abnormal unproductive time
(C) Normal unproductive time
(D) -None of the above |
(3)  Which one of the following is not considered an Incentive Wage System ?
(A) Rowan wage plan
(B) Halsey wage plan
(C) Time wage plan
--(D) Bonus wage plan

(4)  Which of the’ following items is not taken into consideration while
- calculating labour turnover rate as per Flux method ?

(A) No. of employees retired

(B) " No. of employees dismissed

(C) No. of employees appointed under expansion plan
(D) No. of employees appointed on existing posts N

(5) From which of the following wages system, worker also gets share in the
profit and management ?

(A) Profit sharing wages system
(B)  Halsey wages system '
(C) Co-Partnership wages system

(D) Rowen wages system _
; i

el |

4.  (A) In one company ‘there are three production departments and two service

departments The followmg ﬁgures are available from 1t§'books D 14
(1) Rentand Rate_s b, N 10,000 ,J’“._i__

(2) | Genera]vl-i'éh-ting ? 1,200

(3) Indirect Labour, % 3,000

(4) Power ¥ 3,000 i

(5) Depreciation on Machine % 20,000 ),

(6) Misc. expenses T 20,000 !

14
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The following was additional information :

T Production Depts. Service Depts.
No. Particulars A B C D E
I |Area occupied (Sq. | 2,000 2500 3,000 2,000 500
Mtrs.)
2 Light Points 10 15 20 10 5
| 3 | Direct Labour (|? ) 6,000 4,000 6,000 3,000/ 1,000
4 Horse Power of 60) 30 50 10
Machines
5 |Cost of Machines (Z)| 60,000 80,000 1,00,000{ 5000} 5,000
The expenses of Service Departments are allocated as under
A B C D E
D 20% 30% 40% - 10%
E 40% 20% 30%" 10% -
Prepare
(1) Statement of distribution of overhieads to various departments.
(2) Statement of distribution of expenses of service departments to production
departments.

OR

Give the answer of the following (Any Two) :

(1
(2)

3)

NH-103

Explain the advantages of Activity Based costing.

Find out machine hour rate from the following details :

(including surcharge)

4
Cost of machine 14,30,000
Useful life-27 years. During which repairing expenses 3,24,000
Scrap value at the end | 80,000
Other fixed expenses yearly 1,28,000
Expenses of power consumption for a.machine yearly 3,30,000

The machine uses 15 units of power per hour and
surcharge is to be calculated at 10
Explain with example of High an
Variable Overheads,

15

the rate per unit being T 2.
% on expenses of power consumption.
d Low points Method of analysis of semi-

P.T.O.




(B) In the following sub-questions, more than one answer is given, of which only one
answer is correct. Select the correct answer : (Any Three) 3

(1) Which methods are used for apportioning service department expense over
production departments ? '

(A) Least Square Method
(B) Comparison Method
(C) Graphic Presentation Method
| (D) Direct Method
(2)  Which method is also a repeated distribution method ?
(A) Average Method
(B) Graphic Presentation Method
(C) Indirect Method
(D) Trial and Error Method
(3) Inthe Cost Acéounts, delivery van expenses are included in -
(A) Factory Cost
(B)  Administrative cost
(C) -Office Cost
(D) Selling Cost
(4) - Inthe Cost Accounts, cost of oil, grease are included in
(A) Direct Materials - |
(B) Direct Labour . |
(C) Indirect Labour
(D) Indirect Materials

(5) If a separate meter is not allocated, electricity cost will be apportioned
according to -

(A) Horse Power
(B) Direct Cost
(C) Direct material

(D) Area occupied



